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SECTION A: GENERAL AWARENESS 

1. Which of the following is a good and rich source of vitamin C?  

A. Milk 

B. Mango 

C. Banana 

D. Lemon juice 

2. The judges of the Supreme Court of India now retire at the age of…….  

A. 58 years 

B. 60 years 

C. 65years 

D. 62 years  

3. Rohan Bopanna who represented Indian in an international event is a……. 

A. Golf player 

B. Chess player 

C. Lawn tennis player 

D. Table tennis player 



4. The full form of NBFC is __________  

A. Non-Banking Foreign Company 

B. New Business Foreign Company 

C. New Business Finance Corporation 

D. Non-Banking Financial Company  

5. Which of the following places in India does not have a Stock Exchange? 

A. Kolkata 

B. Udaipur 

C. Mumbai 

D. Delhi 

6. The RBI pays interest to the banks for parking their excess money with it. The rate of 

interest paid by the RBI in the above case is termed as  

A. Bank Rate 

B. Base Rate 

C. Repo Rate 

D. Reverse Repo    

SECTION B: REASONING 

Directions (7&8): Study the following information carefully and answer the questions given 

below:  

A, B, C, D, E, F, G, H and J are sitting around a circle facing a centre. C is third to the left of A. E 

is fourth to the right of A. D is fourth to the left of J who is second to the right of A. F is third to 

the right of B. G is not an immediate neighbor of A.  

7. Who is fifth to the right of E? 

A. A 

B. B 

C. H 

D. F 

8. Who is second to the left of H? 

A. D 

B. A 

C. F 

D. G 

 

 



9. In a certain code TRUMP is written SUTQN. How is FIRED written in that code?  

A. GJQEF 

B. JGEQF 

C. JGQEF 

D. JGQFE  

10. How many meaningful English words can be formed with the letters ADIC using each 

letter only once in each word? 

A. One 

B. Two 

C. Three 

D. Five 

SECTION C: ENGLISH 

Direction (11) Choose the word that is most nearly opposite in meaning of the numbered word.  

11. RIGID 

A. Merciful 

B. Generous 

C. Lenient 

D. Tolerant  

Direction (12) Find out which one of them would make the sentence grammatically correct and 

meaningful. 

12. The strike in ports has ____________ in a heavy loss. 

A. Pushed 

B. Resulted 

C. Developed 

D. Thrown  

Directions (13 &14) Read the passage carefully and select the best answer among the given 

choices for each question  

If by some magic you could be granted one quick wish, perhaps you might wish to be popular. 

Being popular means liked by a lot of people instead of just a few close friends, and that is a big 

order. All the same you, too, can be well liked if you are willing to be on guard against the perils 

of popularity.  

13. The author implies that one’s most dominant wish in life is- 

A. The wish to have a family 

B. The wish to excel in intellectual excellence 

C. The wish to be liked by a lot of people besides one’s close friends 



D. The wish to get the higher post of the land  

14. Popularity- 

A. Can be gained by serving the people 

B. Has its own perils 

C. Is the basis of one’s success in life 

D. Does not come to the ideal 

SECTION D: DATA INTERPRETATION 

Direction (15) Study the table and answer the question regarding opinion polling  

  Voting Voting against Indifferent for Total 

Men  350 750 250 1350 

Women  450 1250 50 1750 

Total  800 2000 300 3100 

15. Which of the following conclusions drawn is most correct? 

A. 10% people did not take part in the polling 

B. Women are less interested in polling as compared to men 

C. 64.5% people voted not in favour of the party 

D. Polling has become unpopular in India  

Direction (16&17) Based on the figure below, which shows the expenditure incurred in bringing 

a book to publication? 

16. If the author’s royalties amount to ₹30,000, the binder’s charge amount to _______ . 

A. ₹ 6000 

B. ₹10 ,500 

C. ₹12,000 

D. ₹15,000  
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17. If the advertisement charges amount to ₹ 18,000 , the total expenditure incurred in 

bringing out the book is ₹ __________ . 

A. ₹ 60,300 

B. ₹ 1,00,000 

C. ₹ 90,000 

D. ₹ 63,000  

SECTION E: ARITHMETIC / MATHEMATICS  

18. (7921 ÷ 178)  − 5.5 = √  ? 

A. 1512 

B. 1521 

C. 1251 

D. 1531    

19. Mr. Khanna took a loan of ₹10,000 on simple interest for two years at the rate 3p.c .p.a. 

The total amount that he will be paying as interest in 2 years is 3% of his monthly 

salary. What is his monthly salary? 

A. ₹ 30,000 

B. ₹ 16,000 

C. ₹ 20,000 

D. ₹ 12,000 

20. Twenty-eight percent members of a certain group are married. What is the respective 

ratio between the numbers of married members to the number of unmarried members? 

A. 7:17 

B. 5:18 

C. 7:18 

D. 5:17  

21. In a group of 15 people, 7 have studied Latin, 8 have studied Greek, and 3 have   not 

studied either. How many of these studied both Latin and Greek. 

A. 4 

B. 3 

C. 5 

D. 2   

Correct answers are highlighted with bold 


